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Ayrshire Fitness conversions 

April 2022 

When to use these formulas 

These conversions should only be used for converting cow evaluations and bulls which do not have an Interbull 
evaluation. Please check with AHDB Dairy if in doubt. 

The formulae provide a guide only to the expected evaluations of the relevant bull or cow in the UK. 
 

How to convert a foreign proof using figures in the table below 

      Approximate UK PTA = a + (b * Foreign proof) 

 
 

How to adjust the converted reliability 

To take into account the loss of accuracy when converting a foreign proof into a UK equivalent, Interbull 
guidelines recommend that the foreign reliabilities should be adjusted by the squared correlations between the 
foreign and UK genetic evaluations. 

Somatic Cell Count (SCC) 
The foreign SCC reliability must therefore be multiplied by 0.90 (i.e. UK reliability = 0.90 * Foreign reliability) 

                             a                        b 

GBR  =       9.05  +     36.656  *  AUS 

GBR  =     166.31  +     -1.604  *  CAM 

GBR  =     180.58  +     -1.814  *  CAN 

GBR  =      78.76  +     -0.772  *  DEU 

GBR  =      78.17  +     -0.817  *  DFS 

GBR  =      55.42  +      -0.56  *  EST 

GBR  =       4.72  +     29.141  *  LTU 

GBR  =       0.68  +      0.025  *  LVA 

GBR  =     252.61  +     -2.568  *  NLD 

GBR  =       66.3  +     -0.667  *  NOR 

GBR  =       9.36  +     22.332  *  NZL 

GBR  =    -134.56  +     45.472  *  USA 

GBR  =      -1.53  +      0.389  *  ZAF 
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Mastitis 
The foreign Mastitis reliability must therefore be multiplied by 0.75 (i.e. UK reliability = 0.75 * Foreign 
reliability) 

                             a                        b 

GBR  =       0.26  +     10.955  *  AUS 

GBR  =      28.12  +     -0.273  *  CAM 

GBR  =      23.05  +     -0.231  *  CAN 

GBR  =      13.01  +     -0.133  *  DFS 

GBR  =       9.53  +     -0.091  *  EST 

GBR  =       1.11  +      4.899  *  LTU 

GBR  =       0.46  +      0.004  *  LVA 

GBR  =      37.61  +     -0.371  *  NLD 

GBR  =      10.62  +     -0.103  *  NOR 

GBR  =        1.4  +      3.083  *  NZL 

GBR  =     -20.25  +      6.912  *  USA 

GBR  =       0.21  +      0.066  *  ZAF 

Lifespan (LS) 
The foreign LS reliability must therefore be multiplied by 0.70 (i.e. UK reliability = 0.70 * Foreign reliability) 

                             a                        b 

GBR  =  (   -0.05  +      3.984  *  AUS  ) * 305 

GBR  =  (   -2.25  +      0.021  *  CAM  ) * 305 

GBR  =  (   -4.26  +      0.042  *  CAN  ) * 305 

GBR  =  (   -1.91  +       0.02  *  DEU  ) * 305 

GBR  =  (   -1.51  +      0.017  *  DFS  ) * 305 

GBR  =  (   -0.26  +      0.148  *  IRL  ) * 305 

GBR  =  (    0.12  +      0.001  *  NLD  ) * 305 

GBR  =  (    0.03  +      0.005  *  NOR  ) * 305 

GBR  =  (    0.01  +       0.07  *  NZL  ) * 305 

GBR  =  (   -0.09  +      0.102  *  USA  ) * 305 

GBR  =  (   -0.82  +      0.008  *  ZAF  ) * 305 

Fertility Index (FI) 
The foreign FI reliability must therefore be multiplied by 0.60 (i.e. UK reliability = 0.60 * Foreign reliability) 

GBR  =    -113   +     0.7175  *  CAN CI trait   +     0.4042  *  CAN NR trait 

GBR  =   -65.9   +     0.4434  *  DEU CI trait   +     0.2165  *  DEU NR trait 

GBR  =   -51.6   +     0.3597  *  DFS CI trait   +     0.1877  *  DFS NR trait 

GBR  =  -214.2   +     1.4358  *  NLD CI trait   +      0.664  *  NLD NR trait 

GBR  =   -37.3   +     0.2763  *  NOR CI trait   +     0.2021  *  NOR NR trait 

GBR  =    -1.4   +     1.9161  *  USA CI trait   +     0.9383  *  USA NR trait 


